HE FE | RE E=E
IRADE
1 3RS E (OBRE) 120,000 | 84,000 6,000 % 14
2 |BHESE FHEEE) | 75000 | 60,000 3,000 x 20
3 0B£& 200,000 | 187,000 [3,000 x 61 1,000 X 4
4 FEE 20 15
5 BIEERZEE 4342 | 4342
S5t 399,362 | 335,357
THOE FE -
1 BESE 195,000 | 131,400 |2 R
2 TEEEE 6,000 600 [600(8/3)
3 EKRECOF—H#EE)| 6000 16235 [aE—. HEBERE
4 BEEEFHZEESE) 20,000 | 29,060 |E}EEE
5 BEXES 40,000 | 54,000 9/21#:A (2 =7R—L4£14,000M)
6 RAFHF 2000 | 1,050 | IRETESELASE
78I F D1 50,000 | 50,000 |FEi#k!—7 BEF{TEEIL
8 HEIE ZTM2 30,000 | 30,000 | ¥ EFETEL
9 XBE 10,000 | 9,220 (2,620 % 2 (#2]J1]) ., 3,980 (1&3fF)
10 SIERE 5000 | 4500 [fAE~NEE
1 [FD# 0| 8916 BRI
12  REEZHE 35,362 376
&t 399,362 | 335,357
Baskin x%ﬁkﬁﬁﬁ@ﬁm%ﬁﬁi#«wﬁi
IRA DER TR wE
1 [13—145 8 #Wue 201 50,000 | 50,000 Fi#E)—Y BAETEREIL
2 [13—14%FE B 202 30,000 | 30,000 WL AEHEFET
3 FEE 0 59
4 BIENoDREBE 250,117 | 250,117
=it 330,117 | 330,176
ZHOE R =
1 BEXBEERES 0 0 [ BEFEOLIL UV EEDEBOZH
2 REERZEE 300,117 | 300,176
S&t 300,117 | 300,176
%Efﬁﬁt 20134-:Fr sﬁ 308 : EE%
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